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1. (a)
(b)
(a)
(b)

2. (a) What are different types of cash flows associated - \-)vi.t'h capital .
budgeting process ? What is the relevance of considering cash flows after

2

PART — A (V11 &)

“The wealth maximization criterion is superior to profit maximization criterion.”

Do )}ou agree ? (10)

Mr. X plans to go on a Australian tour after'9 years. The tour is expected
to cost him Rs. 12,00,000. How much should he save annually to accumulate
a sum of Rs. 12,00,000 after 9 years if rate of interest is 11% per annum ?
®)

OR

Investment, Financing and Dividend decisions are interrelated.
Explain. (10)

A company has to repay a loan of Rs.1,00,00,000 at the end of 6
years from now. How much should the company save at the end of
each year for 6 years if rate of interest is 9% p.a. compounded semi-

annually ? (5)
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HMT Ltd. is planning to purchase a machine for Rs. 15,00,000. The expected

earnings from the machine for the next five years are;

Year 1 2 3 4 5
Eamings 4,25,000  5,00,000 5,60,000 4,86,000 5,40,000
The working capital need shall increase by 1,00,000. Depreciation shall be

charged on Straight Line Basis and salvage value will be Rs. 1,80,000. Tax
rate is 35%. Should we purchase the machine if cost of capital is 12%.

(10)
OR

What is Profitability Index ? Which is a superior ranking criterion, PI or
NPV ? _ (5

A firm’s cost of capital is 12%. It is considering two mutually exclusive
projects A and B. The details of the cash flows of these projects are
given below :

Year Project X (Rs.) Project Y (Rs.)
0 (1,90,000) (1,90,000) |
1 25,000 1,70,000
2 55,000 1,15,000
3 90,000 70,000
4 1,45,000 20,000
5 1,75,000 22,000

Figures in brackets indicate cash outflows.

Evaluate the two projects on the basis of;
(i) Payback Period and

(1) Net Present Value (10)
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(@) HMT ffs 15,00,000 & 91 T w0 @S 9t Ao o1 <8 @ | 3Tl ofer e
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AT 4,25,000  5,00,000 5,60,000 486,000 5,40,000
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EL IR X (%) TRAT Y (%)
0 (1,90,000) ~(1,90,000)

1 25,000 ~1,70,000

2 55,000 1,15,000

3 90,000 70-,060

4 1,45,000 20,000

5 1,75,000 22,060
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3. {a) Explain the traditional approach of cost of capital and capital
" structure. ' (5)




5182
(b)

(a)

(b)

5
(i) A company has the following capital structure : - (Rs.)
25,000 Equity shares of Rs. 10 each 2,50,000
2,500 11% Preference shares of Rs. 100 each 2,50,000
3,500 9% Debentures of Rs. 100 each 3,50,000

Calculate EPS for each level of EBIT given below :
(1) Rs. 2,00,000
(2) Rs. 2,40,000
Tax rate is 35%.

(i) A company is considering a new project which requires an outlay of
Rs. 430 lakhs. The required funds can be raised either by issuing equity
shares of Rs. 100 each OR by issue of equity shares for the value of

Rs. 300 lakhs and rest by 12% loan of Rs. 130 lakhs. Find the
indifference level of EBIT if the tax rate is 40%. (6,4)

OR

Define operating leverage and financial leverage. How are they different

from each other ? (5)
A company has EBIT of Rs. 2,50,000 and its capital structure consists of
the following securities :

(Rs.)
Equity Share Capital (Rs. 10 each) 2,00,000
'12% Preference Shares 2,50,000
14% Debentures 4,50,000

The company is facing fluctuations-in its sales. Tax rate is 35%. What
would be the changes in EPS if,

(i) EBIT of the company increase by 20% and

(ii) EBIT of the company decrease by 20%. : »(1_0) o
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PART - C (¥01 W)

4 (a) Expléin_ t;rie'ﬂy the factors which influence the dividend policy of a
C fim. ' (6)
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XYZ Ltd. has a capital of Rs. 7,50,000 in equity shares of Rs. 100 each.
The shares are currently quoted at Rs. 118. The company proposes to declare
a dividend of Rs. 8 per share at the end of current financial year. The
capitalization rate for the risk class to which the company belongs is 9%.
The net profits of the company is Rs. 4,10,000 and budget for the new
investment is Rs. 8,20,000. Using MM model, calculate the market price
per share, number of new equity shares to be issued and market value of the
company at the end of the year if,

(1) Dividend is declared and
(i) Dividend is not declared. 9)
OR
Explain Gordon’s approach to relevance of dividend decision. | 6)

Following are the three companies :

. Ambani Ltd Adani Ltd Tata Ltd

Cf=20% r=18% r=25%

~ Ke = 20% Ke = 20% Ke = 20%
" E=Rs.8 E = Rs. 8 E = Rs. 8

~ Calculate the value of equity shares of each of these companies applying
- -Walter’s model when dividend payout ratio is 40% and 70%. 9)
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(@) wim fAvla = Frdear & TET JIH H A FIR |
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(b)

(a)

(b)

st fafies s fefies e fofis
r=20% r=18% r=25%

Ke = 20% Ke = 20% Ke = 20%
E = Rs. 8 E = Rs. 8 E = Rs. 8

T A TR FTN D SRAEE VG I e’ HSH B AT e IReBerd Hiorg
Fafs T SR I 40% W 70% 2

Explain ABC analysis of invenfory management. | | (7
Define cash. What are principal motives for holding cash ? (8)
OR

Explain briefly the following :
(1) Receivable management

(i) Costs and benefits associated with a change in credit policy  (8)

Explain safety stock. Discuss its role in determination of re-order
point. (7)
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